[bookmark: _Hlk103861754]Homework 5

Name__________________________


1) A doctor measures the systolic blood pressure of 14 people taking part in a clinical trial.
The data is as follows:
[bookmark: _GoBack]111, 123, 90, 95, 97, 82, 129, 101, 140, 100, 98, 122, 120, 120

Produce a 5 figure summary for the data and draw a boxplot.





















2) Below is an excerpt from a BBC article:
[image: https://lh6.googleusercontent.com/Y6ddWSQyn8RE7g3AImeCPeTQ6KE2ZwdSuJ64Pl4SFYSitXcxtXMo8RIT5dlIfzo9JMx8rV9bSFELghSgGxieKkMICv36xJ_FNwNr3budw2SGYazKPGHR2DQbA5IlOwNx4RkrgJ3Vf1NzGFEY6H6FxRw]
Explain why the BBC chose to quote the median donation amount, rather than the mean.
















3) Below is a precedence table for a project.
[image: https://lh5.googleusercontent.com/Q_xU7fFbGOGxlVxRhMAP5BA55Tqx2YRYnVKpFF5haAO4m-kZnjFGE1p1_MzEujP0EVC077IY1K6cv7y2eU4o0cmJCiU-KPtxtk9mds1JEyWt9kpbtVu5mKEq7VKLsl4fFf4QXdqRW9KTMyvWR6n5hdc]
Display this in a diagram.




























What is the shortest amount of time the whole project can be completed in?
_____________  hours.

4) Bobby reads the news and sees that the crime has reduced in his local area by 15% from last year. The report says there were 3,560 crimes committed this year.
Bobby says, "Last year there were 4094 crimes committed."
Explain why Bobby is wrong.















5) A conical container is filled with water. The largest part of the cone is at the bottom of the container; imagine an upside down ice-cream cone. Sketch a graph showing how the height of the water changes over time.















6) How many bouncy balls could fit into your Higher Apps classroom. State any assumptions you make and show all of your working.











7) Hayley is conducting a medical trial which collects different types of data from patients.
Patients' ages, as of their last birthday, are recorded.
What is this type of data? Select all that apply.

Choose all that apply:
A. Categorical
B. Numerical
C. Discrete
D. Continuous


8) The patients were given a peak flow test, and the result was recorded. 
What is this type of data? Select all that apply.

Choose all that apply:
A. Categorical
B. Numerical
C. Discrete
D. Continuous
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Cryptocurrency analysts say at least $13.7m (£10.2m) has so far been
donated to the Ukrainian war effort through anonymous Bitcoin donations.

Researchers at Elliptic, a blockchain analysis company, say the Ukrainian
government, NGOs and volunteer groups have raised the money by
advertising their Bitcoin wallet addresses online.

More than 4,000 donations have been made so far, with one unknown donor
gifting Bitcoin worth $3m to an NGO.

The median donation is $95.

On saturday afternoon, the official Twitter account of the Ukraine government
posted a message: “Stand with the people of Ukraine. Now accepting
cryptocurrency donations. Bitcoin, Ethereum and USDT."




